Day 2 - Forms of a Quadratic

Task 1. For each of the following situations, answer these three questions:

A. Find the y-intercept of this function and describe what the y-intercept means in context of the given situation.
B. Find the vertex of this function and describe what the vertex means in context of the given situation.

C. Find the zeros of this function and describe what the zeros means in context of the given situation.

1. Larry launched a rocket from the rooftop of a building. This function models the height of the rocket over time(t).
H(t) = —16t% + 96t + 112
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3. Sherry collected the following data from a sensor on a rocket she designed and launched.
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